
Findthecolumnvectors;

(a) (1mk)

(b)| | (2mks)

8. .Find (2mks)

9. ShowthatP(4,0-4),Q(8,2,-1)andR(24,10,11)arecollinear.(3mks)

10. Giventhat =2i–j+kandq=i+j+2k,determine

a.│p+q│ (1mk)

(b)│�p–2q│ (2mks)

11. Expressinsurdsform andrationalizethedenominator.
1

Sin60oSin45o-Sin45o

12. IfOA=12i+8jandOB=16i+4j.FindthecoordinatesofthepointwhichdividesAB
internallyintheratio1:3

13. Findscalarsm andnsuchthat

m 4 +n -3 = 5
3 2 8

14. InatriangleOAB,M andNarepointsonOAandOBrespectively,suchthatOM:MA=2:3
andON:NB=2:1.ANandBM intersectatX.GiventhatOA=aandOB=b

(a)Expressintermsofaandb
(i)BM
(ii)AN

(b)BytakingBX=tandAX=hAN,wheretandharescalars,expressOXintwo
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